TMP NO. 93829_A PAGE 10OF 2 REV. A

Always consult dormakaba's website for the latest templates at https://dhwsupport.dormakaba.com/hc/en-us
or call 1-800-392-5209.

NOTES:

1. TAP FOR A #12-24 MACHINE SCREW
OR DRILL FOR A #12 WOOD SCREW

(COMBINATION SCREWS ARE SUPPLIED).

2. ALLOW PLUS TOLERANCE 1/64" FOR
CLEARANCE PER ANSI A115.1.

3. BACKSET: 2-3/4" [70] MD100 STRIKE MD100 DUST BOX
CENTERLINE OF
LOCK FRONT, STRIKE \T ¢
— > 11/16" |l€«——— AND DUST BOX
(171 ‘L qn L 3/64"
[25] [1]

1/2"

S amm < fzflg)]ﬁ'»\

< 1-7/64"__5

/ CENTERLINE (28]
OF STRIKE A ' N
AND LOCK N
3120 112" —+ ¢ \
[88] [38]
2-1/2"
[63] T
T 3-1/8" 1-1/2" 2-1/2"
[ ;5] @_ 791  [37] [63]
v \ l
NOTE #1
1-1/8" 2 X #8-32 SCREW
< —>
3/32" [28] N
1 CENTERLINE .
2 | OF LOCK FRONT, v \ /

]
/ STRIKE AND
' DUST BOX

NOT TO SCALE. MEASUREMENTS ARE FOR REFERENCE ONLY. NOT A DRILLING TEMPLATE.

MD100 STRIKE AND BOX

dormakaba s

dormakaba USA Inc.




TMP NO. 93829_A PAGE 2 OF 2 REV. A

Always consult dormakaba's website for the latest templates at https://dhwsupport.dormakaba.com/hc/en-us
or call 1-800-392-5209.

M1000 STRIKE (ALTERNATIVE)

[104] N\ CENTERLINE OF

LOCK AND STRIKE

3/32"
)
E—— —
|
1-7/8"
<— [48] — >
1-1/4"
[32]
> 158" | ¢
1[15]
A
&:—/
)
4-7/8"
[123] 3-3/8"
[8|6]
3-3/16" _Q4-1/8“
[81]
)
o~
W

~€
__ 1«
/\,

TAP FOR A #12-24 MACHINE SCREW

116" __ 5, ~<— ORDRILL FOR A #12 WOOD SCREW.

(171

NOT TO SCALE. MEASUREMENTS ARE FOR REFERENCE ONLY. NOT A DRILLING TEMPLATE.

MD100 STRIKE AND BOX

dormakaba 4

dormakaba USA Inc.




